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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 6.40 80.50] #hLrist 000 ~ 640| 1.84 9.86 ZThLLSE 1.00| 500 ~ 7.68 80.50|] Zhbulst | 500 ~ 7.68| 1.84 9.86
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 7.26 92.48] Thuls 000 ~ 7.26] 1.64 8.76 Zh LS 1.00] 500 ~ 979 9248| Zhils | 500 ~ 9.79| 1.64 8.76
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 499 62.14] Zhuis 000 ~ 499| 159 8.49 Zh LS 1.00] 500 ~ 559 62.14] Zhils | 500 ~ 559| 1.59 8.49
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 564 70.46| #H st | 000 ~ 5.64] 159 8.52 Zh LS 1.00| 500 ~ 6.65 7046 #hLis | 500 ~ 6.65 1.59 8.52
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 7.26 9247 #hilst | 000 ~ 7.26] 1.94 10.38 Zh LS 1.00] 500 ~ 10.66 9247| Thils | 500 ~ 10.66| 1.94 10.38
6 100kN/mM#%#BZ % 1.00{0.00 ~ 0.56 108.24|3mZE#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00]| 12.28 ~ 1471 108.24|3m%#BZ % = ~ = = =
Zh st 1.00{ 056 ~ 834 100.00] Zh st | 000 ~ 8.34| 1.95 10.43 Zh LS 1.00| 500 ~ 12.28 100.00| Zh st | 500 ~ 14.71] 1.95 10.43
7 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00{ 0.00 ~ 5.13 63.94] ZnList | 000 ~ 513] 1.59 8.51 Zh st 1.00f 500 ~ 5.80 63.94] ZhLis | 500 ~ 580 1.59 8.51
8 100kN/mM%#EZ % 1.00{0.00 ~ 0.25 103.74|3m%E 8% % -~ = = -| 100kN/MZE#BZ % 1.00] 10.94 ~ 11.71 103.74|3m%E#B % % = ~ = = =
ZnLst 1.00] 0.25 ~ 8.04 100.00] Zh L5t | 0.00 ~ 8.04] 2.06 11.01 Zhn st 1.00f 500 ~ 10.94 100.00f Z1List | 500 ~ 11.71| 2.06 11.01
9 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %8z % = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00{ 0.00 ~ 6.96 88.16] ZnList |0.00 ~ 6.96| 1.68 9.02 st 1.00f 500 ~ 8.75 88.16] Zn Ll | 500 ~ 8.75| 1.68 9.02
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